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Part | Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conwersations. At the end of each
conversation , a question will be asked about what was said. Both the conversation and
the question will be spoken only once . After each question there will be a pause. During
the pause , you must read the four choices marked A), B), C) and D), and decide
which is the best answer. Then mark the corresponding letter on the Answer Sheet with a
single line through the centre .

Example: You will hear:
You will read :
A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.
From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the office. Therefore ,A)
“ At the office” is the best answer . You should choose[ A]on the Answer Sheet and mark
it with a single line through the centre.
Sample Answer [A][B][C][D]

1. M: T would like two tickets for the 9 o’clock show this evening.
W: I'm sorry, Sir. They are sold out. But we have a few left for tomorrow.
Q: What do we learn from this conversation?
A) The man wants to attend tomorrow’s show .
B) There aren’t any tickets left for tonight’s show.
C) There aren’t any tickets left for tomorrow’s show.

D) The man doesn’t want to attend tomorrow’s show.

2. W: I’d love to see a different type of movie for a change. I'm tired. of movies about
romantic stories.
M: I agree. Let’s go and see a new movie at the Royal Theatre. I hear it’s a real
story of two prison breakers.
Q: What kind of movie does the woman find boring?
A) Detective stories.

[T 4 10 AxHiE, A A).B).
C).D)PitthRELE, FESHMMR L
LR
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B) Stories about jail escapes.
C) Love stories.
D) Stories about royal families.

. M: What do you think of Professor Brown’s lecture?

W: The topic was interesting, but the lecture was much more difficult to follow than
1 had expected.

Q: What does the woman say about the lecture?

A) It was a long lecture, but easy to understand.

B) It was not as easy as she had thought.

C) It was as difficult as she had expected.

D) It was interesting and easy to follow.

. M: I’d like to have a talk with your director sometime this week. Could you arrange
it for me?

W: He’s rather busy these days. But I'll see what I can do.

Q: What’s the man asking the woman to do?

A) To put him through to the director.

B) To have a talk with the director about his work .

C) To arrange an appointment for him with the director.

D) To go and see if the director can meet him right now.

. M: Why did Margaret call yesterday?

W: She wanted to pick up some magazines she lent me.

Q: What do we learn from the conversation?

A) Margaret wanted to return some magazines to the woman.
B) Margaret wanted to lend some magazines to the woman.

C) Margaret wanted to borrow some magazines from the woman.

D) Margaret wanted to get some magazines back from the woman.

. W: You seem to have a lot of work to do at your office. You're always staying late
and working overtime.

M: That’s true. But it’s no bother to me. The work is interesting. I don’t mind ex-
tra hours at all.

Q: How does the man feel about his job?

A) He doesn’t care much about it.

B) He enjoys it very much.

C) He doesn’t mind even though it’s tedious.

D) He hated working overtime.

. M: Well, the holidays will soon be here.
W: Yes, isn’t it exciting? By this time next week, we’ll be on the plane.
Q: What do we leam from the conversation?

A) The woman doesn’t think it exciting to travel by air.

3.
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B) They’ll stay at home during the holidays.
C) They are offered some plane tickets for their holidays
D) They’ll be flying somewhere for their vacation.

8. M: What happened to you? You are so late.
W: The bus I took broke down in front of the hospital, and I had to walk from
there.
Q: Why was the woman so late?
A) Something went wrong with the bus.
B) She took somebody to hospital .
C) Something prevented her from catching the bus.
D) She came on foot instead of taking a bus.

9. M: It’s such a beautiful day. Why not sit out in the backyard for a while and enjoy
it?
W: I'd love to. But there’s a lot of laundry to do.
Q: What will the woman probably do?
A) Do her homework .
B) Clean the backyard.
C) Wash clothes.
D) Enjoy the beautiful day.

10. M: I believe you have a room to let.
W: That’s so. Yes, won’t you come in?
Q: What can we leam from the conversation?
A) The man is looking for a place to live in.
B) The man has a house for rent.
C) The woman is a secretary.
D) The two speakers are old friends.

Section B Compound Dictation

Directions: In this section you will hear a passage three times. During the first read-
ing , you should listen carefully for a general idea of the whole passage. Then listen to
the passage again. When the first part of the passage is being read , you should fill in

the missing word during the pause at each blank. After listening to the second part of

the passage you are required to write down the main poinis according to what you have
Just heard . Finally when the passage is read the third time you can check what you have

written .

8. (¥Rl (BRhEE®

9. [¥R]c [HARDRE®
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Very few people can get a college degree before 11, but Michael was an excep-
tion. He started high school when he was S, finishing in just nine months. He became
the (SI)
eaming an (S2)
in (S3) intelligence .

But Michael’s ($4) hasn’t always come easy. (S5)
telligence, he still lacks important life (S6)
struggle to understand (S7)
been in love before.” ,

Another challenge was his size. (S8)

youngest college graduate when he was 10 years and 4 months old,
degree. Now at 11 Michael’s working on a master’s degree

his in-
. In some class, he had to

novels, because, he says, “I'm 11. I've never

" He likes computers so much (S9)

He wants to make robots do all the heavy tasks.
(S10)

Part [ Reading Comprehension

Directions: There are 4 reading passages in this part. Each passage is followed by
some questions or unfinished statements. For each of them there are four choices marked
A),B),C)and D). You should decide on the best choice and mark the corresponding
letter on the Answer Sheet with a single line through the center .

(85 minutes)

Passage One
Questions 11 to 15 are based on the following passage:

In bringing up children, every parent watches eagerly the child’s acquisition (%
£:) of each new skill — the first spoken words, the first independent steps, of the be-
ginning of reading and writing. It is often tempting to hurry the child beyond his natu-
ral leaming rate, but this can set up dangerous feelings of failure and states of worry in
the child. This might happen at any stage. A baby might be forced to use a toilet too
early, a young child might be encouraged to leam to read before he knows the meaning
of the words he reads. On the other hand, though, if a child is left alone too much, or
without any leaming opportunities, he loses his natural enthusiasm for lift and his de-
sire to find out new things for himself.

Parents vary greatly in their degree of strictness towards their children. Some may
be especially strict in money maters, others are severe over times of coming home at

night or punctuality for meals. In general, the controls imposed represent the needs of

the parents and the values of the community as much as the child’s own happiness.
As regards the development of moral standards in the growing child, consistency

is very important in parental teaching. To forbid a thing one day and excuse it the next

is no foundation for morality (% ). Also, parents should realize that “example is

better than precept” . If they are not sincere and do not practise what they preach (i
#), their children may grow confused, and emotionally insecure when they grow old

enough to think for themselves, and realize they have been to some extent fooled.
A sudden awareness of a marked difference between their parents’ principles and

Si.{ &R ] world's

2| % Jarchitecture

S3. (%R ] arificial

4. [ %R Jsuccess

85.{ TR Despite

$6. [ B R ] experiences

§7. (%% ] romantic

8. [# %R | High school physical education
was difficult, because all of the equip-
ment was 100 big for the five-year-old
student.

9. [% R ) that in graduste school he's
studying how to make them think like
people.

S10. | % % ] Michael is smart, but he is
like every other kid.

[BR)EHOF AL HELEE
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R4 RRH A)\B).C).D), kK
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AN
their morals can be a dangerous disappointment.
11. Eagerly watching the child’s acquisition of new skills 1. [#R]B (FR]ESATH
A) should be avoided (B AEOBMERSETA

B) is universal among parents
C) sets up dangerous states of worry in the child
D) will make him lose interest in learning new things

12. In the process of children’s learning new skills parents
A) should encourage them to read before they know the meaning of the words they
read
B) should not expect too much of them
C) should achieve a balance between pushing them too hard and leaving them on
their own

D) should create as many learning opportunities as possible

13. The second paragraph mainly tells us that
A) parents should be strict with their children
B) parental controls reflect only the needs of the parents and the values of the
community
C) parental restrictions vary, and are not always enforced for the benefit of the
children alone

D) parents vary in their strictness towards their children according to the situation

14. The word “precept” (Line 4, Para. 3) probably means “ .
A) idea
B) punishment
C) behaviour
D) instruction

15. In moral matters parents should
A) observe the rules themselves
B) be aware of the marked difference between adults and children
C) forbid things which have no foundation in morality
D) consistently ensure the security of their children

Passage Two
Questions 16 to 20 are based on the following passage:

A good modern newspaper is an extraordinary piece of reading. It is remarkable
first for what it contains: the range of news from local crime to international politics,
from sports to business to fashion to science, and the range of comment and special
features (45 ) as well, from editorial page to feature articles and interviews to criti-
cism of books, art, theatre and music. A newspaper is even more remarkable for the
way one reads it: never completely, never straight through, but always by jumping
from here to there, in and out, glancing at one piece, reading another article -all the

13.

15.

B FR—TEREFR, B
BE1RE19PHRXEBH
“every parent watches eagerly” , O A
FEYTERMRERLINE
WO, B0 B,

| ERIC (%R ENE

(R 1B B3-S IR
1B, QRNTENRER " RE
YEE 1 R, A WSEENA
Ko BN BTSSR H WM
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M, OMAEREIREZ BX
HVE,HETE,
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(W47 | EITSE 2 RN BAB R
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way through, reading just a few paragraphs of the next. A good modern newspaper of-
fers a variety to attract many different readers, but far more than any one reader is in-
terested in. What brings this vaﬂety together in one place is its topicality (Rf%#),
its immediate relation to what is happening in your world and your locality now. But
immediacy and the speed of production that goes with it mean also that much of what
appears in a newspaper has no more than transient (%)) value. For all these rea-
sons, no two people really read the same paper: what each person does is to put to-
gether, out of the pages of that day’s paper, his own selection and sequence, his own
newspaper. For all these reasons, reading newspapers efficiently, which means getting
what you want from them without missing things you need but without wasting time, de-
mands skill and self-awareness as you modify and apply the techniques of reading.

16. A modern newspaper is remarkable for all the following except its
A) wide coverage
B) uniform style
C) speed in reporting news
D) popularity

17. According to the passage, the reason why no two people really read the “same”
newspaper is that
A) people scan for the news they are interested in
B) different people prefer different newspapers
C) people are rarely interested in the same kind of news
D) people have different views about what a good newspaper is

18. It can be concluded from the passage that newspaper readers
A) apply reading techniques skillfully
B) jump from one newspaper to another
C) appreciate the variety of a newspaper
D) usually read a newspaper selectively

19. A good newspaper offers “a variety” to readers because
A) it tries to serve different readers
B) it has to cover things that happen in a certain locality
C) readers are difficult to please
D) readers like to read different newspapers

20. The best title for this passage would be “ .
A) The Importance of Newspaper Topicality
B) The Characteristics of a Good Newspaper

A

19

2.

16.

18.

(#%]B [#R)BDE

(B TIE T ERF AN
REORTE. OR-BEE . B)
WRABH— OR: HERED
BB, DIIAGM. 4O\
D)3 MR BAXPET KA, B
RSV SRR, HLUE BIR.

R [ B HEHTR

W4 B0 RER T ARER
STORERENRER T INBH
BENERGE | BRE—9E: Fo
all these reasons, no two people really
read the same paper: what each person
does is to put together, out of the pa-
pers of that day’s paper, his own selec-
tion and sequence, his own newspaper.
BN, RERR AIRFTR T &
RSN

[#R]D %540

[ 1RBE . MNP TUBH*
FREZERHABE? —HB
WIRGEZ B2, LIRS
TENRBNRE, ANFEE
ETETENEBNRE, HiRES
CHEBAREGRE NS
£, MIFLEERREN SR,
BULHRR O, 28 D IEEE
EEERNSE, AR,

AEFRIAZRIBTRE

(W] EET— 0B HREN T
ARBRERHFEDIVHAS,

T XEWUETERNDE: atrct

many different readers, & % I A)
Ffo

€7 IEFIESE:
(RSO TIBRRE LD
HS, WY, JNALLEL |
R-BBREMARTARDS |
4




1998 F | A R FENEH XA

C) The Variety of a Good Newspaper
D) Some Suggestions on How to Read a Newspaper

Passage Three
Questions 21 to 25 are based on the following passage:

American society is not nap (4B )-friendly. “In fact,” says David Dinges, a
sleep specialist at the University of Pennsylvania School of Medicine, “there’s even a
prohibition against admitting we need sleep.” Nobody wants to be caught napping or
found asleep at work. To quote a proverb: “Some sleep five hours, nature requires sev-
en, laziness nine and wickedness eleven.”

Wrong, The way not to fall asleep at work is to take naps when you need them.
“We have to totally change our attitude toward napping,” says Dr. William Dement of
Stanford University, the Godfather of sleep research.

Last year a national commission led by Dement identified an “ American sleep
debt” which one member said was as important as the national debt. The commission
was concerned about the dangers of sleepiness: people causing industrial accidents or
falling asleep while driving. This may be why we have a new sleep policy in the White
House. According to recent reports, President Clinton is trying to take a half-hour
snooze (¥THfilE) every afternoon.

About 60 percent of American adults nap when given the opportunity. We seem to
have “a midafternoon quiet phase,” also called “a secondary sleep gate.” Sleeping 15
minutes to two hours in the early afternoon can reduce stress and make us refreshed.
Clearly, we were bomn to nap.

We, Superstars of Snooze, don’t nap to replace lost shut-eye or to prepare for a
night shift. Rather, we “snack” on sleep, whenever, wherever and at whatever time
we feel like it. 1 myself have napped in buses, cars, planes and on boats; on floors
and beds; and in libraries, offices and museums.

21. It is commonly accepted in American society that too much sleep is
A) unreasonable

B) criminal

C) hamful

D) costly

22. The research done by the Dement commission shows that Americans
A) don’t like to take naps

B) are terribly worried about their national debt

C) sleep less than is good for them

D) have caused many industrial and traffic accidents

23. The purpose of this article is to

A) warn us of the wickedness of napping

AN
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B) explain the danger of sleepiness
C) discuss the side effects of napping
D) convince the reader of the necessity of napping

24. The “American sleep debt” (Line 1, Para. 3) is the result of .
A) the traditional misconception the Americans have about sleep
B) the new sleep policy of the Clinton Administration
C) the rapid development of American industry
D) the Americans’ worry about the danger of sleepiness

25. The second sentence of the last paragraph tells us that it is .
A) preferable to have a sound sleep before a night shift
B) good practice to eat something light before we go to bed
C) essential to make up for lost sleep
D) natural to take a nap whenever we feel the need for it

Passage Four
Questions 26 to 30 are based on the following passage:

Violin prodigies (# %), 1 leamed, have come in distinct waves from distinct re-
gions. Most of the great performers of the late 19th and early 20th centuries were born
and brought up in Russia and Eastem Europe. I asked Isaac Stern, one of the world’s
greatest violinists, the reason for this phenomenon. “It is very clear,” he told me.
“They were all Jews (JtA&A) and Jews at the time were severely oppressed and ill-
treated in that part of the world. They were not allowed into the professional fields, but
they were allowed to achieve excellence on a concert stage.” As a result, every Jewish
parent’s dream was to have a child in the music school because it was a passport to the
West.

Another element in the emergence of prodigies, 1 found, is a society that values
excellence in a certain field and is able to nurture (35%) talent. Nowadays, the most
nurturing societies seem to be in the Far East. “In Japan, a most competitive society
with stronger discipline than ours,” says Isaac Stem, “children are ready to test their
limits every day in many fields, including music. When Western music came to Japan
after World War [ , that music not only became part of their daily lives, but it became
a discipline as well.” The Koreans and Chinese, as we know, are just as highly moti-
vated as the Japanese.

That’s a good thing, because even prodigies must work hard. Next to hard work,
biological inheritance plays an important role in the making of a prodigy, J.S. Bach,
for example, was the top of several generations of musicians and four of his sons had
significant careers in music.

26. Jewish parents in Eastern Europe longed for their children to attend music school
because .

A) it would allow them access to a better life in the West
B) Jewish children are born with excellent musical talent
C) they wanted their children to enter into the professional field

o

A ER]A [ ZR]PHRE

[# 47 ] “ There’s even a prohibition
against admitting we need sleep. ™ “ No-
body wants to be caught napping or
found asleep at work.” X E%E 2 RE
BHIEEARMEROATE
BREAEN. S0ER AER.

- [#R]D [ZR]EHHT

(Wi |RECRE 8% 2 DES
KT RMN 4. BE-BROKE
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D) it would enable the family to get better treatment in their own country

27. Nurturing societies as mentioned in the passage refer to societies that
A) enforce strong discipline on students who want to achieve excellence
B) treasure talent and provide opportunities for its full development
C) encourage people to compete with each other
D) promise talented children high positions

28. Japan is described in the passage as a country that attaches importance to
A) all-round development
B) the leamning of Western music
C) strict training of children
D) variety in academic studies

29. Which of the following contributes to! the emergence of musical prodigies accord-
ing to the passage?
A) A natural gift.
B) Extensive knowledge of music.
C) Very early training.
D) A prejudice-free society.

30. Which of the following titles best summarises the main idea of the passage?
A) Jewish Contribution to Music.
B) Training of Musicians in the World
C) Music and Society
D) The Making of Prodigies

Part [l

Directions: There are 30 incomplete sentences in this part. For each sentence there are
4 choices marked A), B), C) and D). Choose the ONE answer that best completes

the sentence. Then mark the corresponding letter on the Answer Sheet with a single line
through the center .

Vocabulary and Structure

(20 minutes)

31. Although punctual himself, the professor was quite used
ture.

late for his lec-

A) 1o have students
B) for students’ being

~
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EQ : Another element. . . is a society that
values excellence in a certain field and
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B 3 BRR: Next to hard work, bio-
logical inheritance plays an important
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32.

33.

34.

35.

36.

C) for students to be
D) to students’ being

You should have been more patient that customer; I'm sure that selling

him the watch was a possibility.
A) of

B) with

C) for

D) at

Neither of the young men who had applied for a position in the university .
A) has been accepted

B) have been accepted

C) was accepted

D) were accepted

This box is too heavy, give me a hand?
A) would you mind

B) would you please

C) will you like to

D) will you please to

he works hard, I don’t mind when he finishes the experiment.
A) As soon as '
B) As well as
C) So far as
D) So long as

As early as 1647 Ohio made a decision that free, tax-supported schools must be
established in every town
A) having

C) to have had

B) to have

D) having had

50 households or more.

32.

3,

3

[

w
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37.

38.

39.

People appreciate with him because he has a good sense of humor.
A) to work

B) to have worked

C) working

D) having worked

The mad man was put in the soft-padded cell lest he ~~ himself.
A) injure

B) had injured

C) injured

D) would injure

We love peace, yet we are not the kind of people to yield
threat.
A) up
B) to
C) in
D) at

any military

. Although he knew little about the large amount of work done in the field, he suc-

ceeded
A) which
B) that
C) what
D) where

other more well-informed experimenters failed.

41. If tap water was as dangerous as some people think, would be getting

42.

43.

sick.

A) a lot of more us
B) more a lot of us
C) a lot of us more

D) a lot more of us

Living in the central Australian desert has its problems,
not the least.
A) for which
B) to which
C) of which
D) in which

obtaining water is

Which sport has the most expenses
equipment and uniforms?

training equipment, players’ personal

Lo
P

. {EEE, VIR B)HBR. OIR.D)

[(RAIMFBEB LRBRE

39.
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41.

42.

43.

w
[EXIANESSRAML—RT §
isyaL—=
€3 I ETVES = hs
R | A B SR EREE,
F] appreciate EBERERDHZE

X BIE TS, REQE, 53
BEESOFEBEHANE -
B, WRRLZIE—BETS, &
ORIEHo

BV, BIBSHEE B,

(FR]A [FR])EMES

[#47 lest: WP, DU B BEBE
WEES, NDBNBIEN should + R
Fonna, 2P should T EH,

(X )BIIAENT, BRI
SRR T DB A

[%®]B [ %K ]INFREEE
[#847 ]vield 1o sth. BRRTF -,
""" i, yield up A IRBE,
BRiLS - HA. RIBW
BB,

T{ERZED, BEARLAT R
BOAKBSMTT, HRE T W
mo

[E#R]D [£R]9354

(R4 | BEAES ISRBMENER
RIBEAMRHA, KMIRH Ao
FEXFTEBHBIE the field, B
5., B whereo

[(EXJURERKEELANS
BB BMENE, LBRNEBESD
m$ﬁ°

(#R]b (&AL REBIMANA
b

[ #4F Jmore FRSRIRTE lot, FTE lot
B, B0 : more a lot f REIR,

[(BXEFERANTNEDS
HESOMA, RPREKEF R
BraEn.

€% JIWE F-9 =iy

[ W47 IR~ RSB E
EMG, REBAETE problems &) S|
18 which ZHNER BE O
XR, TANAME o,

(X )RR E SENRNTA
EENRETS, BOSHEER |
PN,




12 KEFBRNEH AN FAELR

45,

47.

48,

. They are going to have the serviceman

A) in place of
B) in terms of
C) by means of
D) by way of

an electric fan in the office tomor-
TOW.

A) install

B) to install

C) to be installed
D) installed

I'm sure he is up to the job
A) if only

B) in case

C) until

D) unless

he would give his mind to it.

. The car halfway for no reason.

A) broke off
B) broke down
C) broke up
D) broke out

The newcomers found it impossible to themselves to the climate sufficiently

to make permanent homes in the new country.
A) suit

B) adapt

C) regulate

D) coordinate

A to this problem is expected to be found before long.
A) result

B) response

C) settlement

45,

47.

C(EXETEL g ARBER
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[%R]B [EREEWY

(847 Lin place of {135, BOYHEIR in
the place of ATILLS, in one’s place;
by means of B, B, &, K 5E: by way
of BT+ T3 in terms of T
in (the) light of |RIB, M- 58
(RR). REORTUR, BHRAE
Bo

ENNBRE-BHBE.

[&R]A (2R EQIENHE
[#47 | have b.do sth. UL EABE
B, hEr08,

[#x 1R BBIOER, BABSH
SRR T A%,

(%] A L8R EENE AT
(M5 ] if only BR; untl RE, B
B8 Al in case H—, 8
oo unless BRIE, LR o IRIE
IR, ATIER.

AT

[%R]B [ K INTRBMT
(W47 ] break op BEEE, BRY, (185
BE)SMER  NRBR,(IBE
RIKRVER, 1T ; break off {BIE
W5, B, EivELL, (B, R
AT, RRDIL ; break out( W
RFER B BIDBRRE, %
1% break down HEIR, LR, (JEM28
BIHER N,

(B IXLFEERU, T TH
BEFEREEMR LRSBEUX
AEBETRERTER,

[®R]B [#K]DBVENIR
B

{47 ] adapt oneself 0. . . FECB
i;be adapt to BN, it BS, S
FNREB, (KR B8, 858
FOR B TE); regulate 18
88, 8BS ; coordinate
& TENE, BEARS. B
B4 TRI0X, HRNSURR

Co

EARABEERE .

[#R]D [#A LN

[ 47 ] solution 2 solve BY3233, B9
BRINE)BE”; a slution to Q‘

!
s




